S F5 B
HE TR B ARG B ff Y HAAM &HA S
AN 4 EFE B BRI HHS TS A E L 526
FH UG A 5 3675 = 1 21, 830, 000
SRS IEAM = 1 14, 191, 196
BB A =Y 1 9, 495, 964
[ERIN G = 1 8, 719, 094
FHHIFR A
et et KA TR ESE 1 75, 700 75, 700|551 5 Bl %
HAEYwE T =] 3 75, 700 227, 100|525 Hiflhi#
e R AN B ES 2 1 75, 700 75, 700|535 HLfffi 7%
VEXGTH & VEEREED
DRE YERL ES S 1 41,724 41, 724| F4 2R
i fE R A E7s 1 81, 756 81, 756|852 Hifli#

o [ 5 HE A R




S F5 B
#H TR TR B B 7 o HAh 458 B
BELET) V)
L i B B—A MR 71 7,638 542, 2985565 Hifli %
B S
PAFk B B—A W 71 10, 774 764, 954|557 55 WA
LY B B—A He % 71 97,322 6,909, 862|458 5 Hiffiz
EERE (B R = 1 776, 870
pSE - 2V 1 610, 336|#18-HERE
B A EE 2 1 166, 534| 25 NFRE
Z Ot Al = 1 4,695, 232
Z O Ul = 1 4,695, 232|FH3E- N E
— R 2V 1 7, 638, 804
— W B = 1 7, 638, 804

o [ 5 HE A R




S F5 B
HE TR B ARG 7 & HAh LKA S
SR = 1 21, 830, 000
T2 Bl 25 AH 4 %A = 1 2, 183, 000
ENE = 1 24, 013, 000
k& oo & B DY SEil 4 A

o [ 5 HE A R




\

o1 TNRE MEHES ()

g ©) @) & FE .
(R3S MBHE & [EREINER ¢ 0. 070 8,719, 094 610, 336
S 2 610, 336

o ] 5 R A SR




fEm

i

166, 534

595 BT

oy

166, 534

o ] 5 R A SR

\




# 3 wWNERE T O

4 ©) .
B wooom H ¥ I 5 st @) @& % 1
| BICE | s |@x 0/ 0-0)=6
FH H A 2
e A S TRE 75, 700
HAEYvwEk T A 227,100
ek RPN R 75, 700
VRt E¥EFEE D
DRE YERL 41,724
fHfE LA B4 81, 756
BEBLET) V)™
&3 B B—A 542, 298
TG R
DAERK B B—A 764, 954
FHAE LA B B—A 6, 909, 862
7 35% 8, 719, 094 4,695, 232
& 7 4,695, 232

r ] 5 R A R



\

Fl1 e HAmR

A S
ek

£ At

KA T

HoOoffi 4R

DRI -1 (UL

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

HHIEAE (1)

MHIE=R (1)

MHIEER (2)

FHIE=R (3)

MIEAE (2)  |Beil 55 HL A

2
TN

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

A D
0.50
0.50
0.50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

58, 600
51, 200
41, 600

29, 300
25, 600
20, 800

75,700

EBNE

(A=)

AL + 1

HALY 720

75,700

o ] 5 R A SR



FoE Hm#R

A S
ek

£t

R A

HoOoffi R

AR -1 (R

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

HHIEAE (1)

MHIE=R (1)

MHIEER (2)

FHIE=R (3)

MIEAE (2)  |Beil 55 HL A

2
TN

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

A D
0.50
0.50
0.50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

58, 600
51, 200
41, 600

29, 300
25, 600
20, 800

75,700

EBNE

(A=)

AL + 1

HALY 720

75,700

o ] 5 R A SR



FE3EHLFR

A S
ek

£t

R RAANAN

HoOoffi 4R

DRI -1 (UL

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

Bt 55 Hiff

2
TN

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED
0. 50
0. 50
0. 50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

58, 600
51, 200
41, 600

29, 300
25, 600
20, 800

75,700

EBNE

(2 (L)

EeE + 1

HALY 720

75,700

o ] 5 R A SR



FAEHALFR

A S
ek

(=S
DFE

[EErE

YRRk

HoOoffi 4R

AR -1 (R

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

<H ED

<P (X %) >
0.38
0.38

<NZEGE)>

< AR >
0. 3800
0. 3800

0. 38
0.38

58, 600
51, 200

41,724

EBNE

(2 (L)

EeE + 1

HALY 720

41,724

o ] 5 R A SR



FEH e HL R

E R

Bl A

HoOoffi 4R

AR -1 (R

AL

FLYEE

SAPBITESR (1)

SR IE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

2
TN

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED
0.54
0.54
0.54

<P (X %) >

<NZEGE)>

< AR >
0. 5400
0. 5400
0. 5400

0.54
0.54
0. 54

58, 600
51, 200
41, 600

31, 644
27, 648
22, 464

81, 756

EBNE

(2 (L)

EeE + 1

HALY 720

81, 756

o ] 5 R A SR



WY ) BOfli 4 E
el = PR L YA *ﬁfﬁéﬁ?ﬁﬁﬁ % B B_/])
§)
A6 A2 SRR (B EUR)

4 i BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) [BIFE SN o |

CH ED < HNER >
EXERsal A 0. 0600 0.50 0.03 58, 600 1,758
Bl (A) A 0. 08 0. 1400 0. 50 0.07 51, 200 3, 584
i (B) A
il (C) A 0. 08 0. 1400 0. 50 0.07 32, 800 2,296
Bl (D) A

GEACTEESD
EXERsal] A 0. 06
i (A) A 0. 06
i (B) A
el (C) A 0. 06
il (D) A

<NZEGE)>
ERERs ] A
Bl (A) A 7,638
i (B) A KHNH
el (C) A (=)
i (D) A

ZEAE + 1

BALY 720 7,638

o ] 5 R A SR



BT RALR

E R

GILAN R R
DYERK

HoOoffi 4R

AR -1 (R

AL

FLYEE

SAPBITESR (1)

SR IE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

Bt 55 Hiff

2
TN

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

<H ED

<P (X %) >
0. 06
0.17

0.31

<NZEGE)>

< AR >
0. 0600
0. 1700

0.3100

0. 50
0. 50

0. 50

0.03
0.08

58, 600
51, 200

.15 32,800

1,758
4, 096

4,920

10, 774

EBNE

(2 (L)

EeE + 1

HALY 720

10, 774

o ] 5 R A SR



O A
o L FHAE R FHAE R B B—A
8
A8 Rl 2 SRR (B EUR)

4 g BN FEUEE (AR ER O [AnsEER Q| MIEE (D) | MIERQ) | fMIER©Q) | fHIER®) IR B B

CH ED < HNER >
EXERsal A 0. 1000 0.50 0.05 58, 600 2,930
Bl (A) A 1.97 2.0700 0. 50 1.03 51, 200 52, 736
i (B) A
il (C) A 1.97 2. 5500 0. 50 1.27 32, 800 41, 656
il (D) A

GEACTEESD
EXERsal] A 0.10
i (A) A 0. 10
i (B) A
el (C) A 0.58
il (D) A

<NZEGE)>
ERERs ] A
Bl (A) A 97, 322
il (B) A EBENE
i (C) A (A=)
il (D) A

EAE + 1

BANLY 720 97, 322

o ] 5 R A SR



%9 wHliE R SEE B4R ATAEE-1 (BRI
% i oL R B [ & il C:d
Jic e A2 i A X 1 166, 534 166, 534 |2 A\ 11:#28, 719, 0949 X 0. 0191
= 7 166, 534

o ] 5 R A SR



	2.総括
	13.調_材等
	14.調_旅費
	16.調_間接
	12.調_単価

